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QID : 601 - In the following question, select the related word pair from the given alternatives.

1) Food : Grains

YSTeT : 3Tl

2) Army : Post

qar: A

3) Galaxies : Universe

TR : 15

4) Thief : Jail R : FRER

Correct Answer: Galaxies : Universe 3TehTRT3TaTT :
Qe

Candidate Answer: Galaxies : Universe 31TehIRI4TdTT :
gIs

QID : 602 - In the following question, select the related word pair from the given alternatives.

AATTA HEUIANTHIA A TS T AG G A F G AT
gt

:Wa‘rsm: HEH
Options:

1) Bird : Fly

q < 384T

2) Lion : Roar

g : qglsell

3) Tiger : Carnivorous

1130 ﬂm’l%'lfl’

4) Cat : Kitten

g T E A
Correct Answer: Bird : Fly T
<Y : 35T

Candidate Answer: Bird : Fly 9
&Y 35T

QID : 603 - In the following question, select the related word from the given alternatives.

Animals : Zoo : : Car: ?

AAATA  HGUIATTH TH Y e U A& H AT

Slelay : I SITET : : PR : ?



Options:
1) Garage

2) Hanger
gIN
3) Automatic

e e

4) Red

olel

Correct Answer: Garage

R= Candidate
Answer: Garageﬁ (S

QID : 604 - In the following question, select the related letters from the given alternatives.

TEAK:YJFP::COLD:?
AATGT  HSUIACTH TH Y T U HIH AV

TEAK : YJFP : : COLD : ? Options:
1) sLal

2) NPCB

3) FDHA

4) HTQI

Correct Answer: HTQI
Candidate Answer: HTQI

QID : 605 - In the following question, select the related letters from the given alternatives.

KIM :NRP:: TOR:?
ATTTA  HEUIATTH TH A TS & T H AT

KIM : NRP : : TOR : ? Options:
1) ILG

2) FLG

3) MOG

4) GHL

Correct Answer: ILG
Candidate Answer: ILG

QID : 606 - In the following question, select the related letters from the given alternatives.
FL:BH::GM:?
AATGT  HEUICGh TH J T U TR AV

FL:BH::GM: ? Options:
1) DJ

2) Cl

3) LF

4) QS

Correct Answer: Cl
Candidate Answer: Cl

QID : 607 - In the following question, select the related number from the given alternatives.
15:32::19:?
ATTGT  AGUIATTH I H Y S O & ITH AT

15:32::19:? Options:



1) 40

2) 54

3) 38

4) 46

Correct Answer: 40 [OR] 54
Candidate Answer: 40

QID : 608 - In the following question, select the related number from the given alternatives.
14:41::29:?
AATGT  HEUIATTh I H Y el Ol & I H AT

14:41::29:? Options:
1) 48

2) 56

3) 63

4) 77

Correct Answer: 56
Candidate Answer: 56

QID : 609 - In the following question, select the related number from the given alternatives.

17:289::21:?
AATGT  HEUIATTH I H Y e Ol & ITH AT

17 :289::21:? Options:
1) 484

2) 529

3) 441

4) 576

Correct Answer: 441
Candidate Answer: 441

QID : 610 - In the following question, select the odd word from the given alternatives.

GIGESECS) Hatrmamtmﬁawwaaﬁgram

Options:
1) Grey
9

2) Black
ShTell

3) Dyeing

WA &

4) Orange

ARER

Correct Answer: Dyeing 33Tel
El

Candidate Answer: Dyeing ETic
hr

QID : 611 - In the following question, select the odd word from the given alternatives.

AATGT AU TH TH A IYH A H AT
Options: 1) Planet
—Earth -

2) Game —
Tennis @l — ¢ T F



3) Body
organ —Heart R

T 37T - Gl
4) Up — Down
SW -
A
Correct Answer: Up — Down 39 —
e
Candidate Answer: Up — Down 39 —
A

QID : 612 - In the following question, select the odd word from the given alternatives.

AATTT  HEUIT doh TH J q9H A& I AT
Options:

1) H
ockeyﬁEF

2) F
ootball
[TIC)

3) Cr
icketsh T

4) C
hess TRt

Correct Answer: Chess 2Rt

Candidate Answer: Chess 2TcaT

QID : 613 - In the following question, select the odd letters from the given alternatives.

TTTTT HEUITTh I H G a9H I TH AT

Options:

1) XVT

2) RPN

3) AYW

4) DBY

Correct Answer: DBY

Candidate Answer: [ NOT ANSWERED ]

QID : 614 - In the following question, select the odd letters from the given alternatives.

TTTTT HEUITTh I H G a9H 3 TH AT

Options:

1) cJax

2) FMTB

3) RYFM 4) WDKR

Correct Answer: FMTB

Candidate Answer: [ NOT ANSWERED ]

QID : 615 - In the following question, select the odd letters from the given alternatives.

AATGT  HEUIATITH I H Y aGH HTH AV

Options:

1) LFZT 2)

KEYS

3) MGBV

4) SMGA

Correct Answer: MGBV

Candidate Answer: [ NOT ANSWERED ]



QID : 616 - In the following question, select the odd number from the given alternatives.

ATATTT  HESUACTH IH Y IH E ATH AT

Options:

1) 3-10

2)5-16

3)6-21

4) 8-25

Correct Answer: 6 —21
Candidate Answer: 6 —21

QID : 617 - In the following question, select the odd number from the given alternatives.

AATEA  AGUACTH TH G aH E AT H F AT

Options:

1) 8-11

2) 14-19

3) 15-18

4)7-10

Correct Answer: 14 —19
Candidate Answer: 14 — 19

QID : 618 - In the following question, select the odd number pair from the given alternatives.

AATGT  HEUICAH IH A ITH G A H H AT

Options:

1) 14-195

2) 17-288

3) 22-483

4) 23 -529

Correct Answer: 23 —529
Candidate Answer: 23 — 529

QID : 619 - Arrange the given words in the sequence in which they occur in the dictionary.

. Mediate
. Medicine
. Menace
. Merchant
. Momento

i B WN R

TS o Tl A S T A SN H 3T dTel H & AR o |

. Mediate
. Medicine
. Menace
. Merchant
. Momento

au b WN R



) 54321
2) 12345
3) 21345
4) 21543
Correct Answer: 12345
Candidate Answer: 12345

QID : 620 - Arrange the given words in the sequence in which they occur in the dictionary.

. Offhand

. Ointment
. Observe
. Occupy

. Odyssey

u B WN R

o o W U S Y A eI H T ATel H b HoJAR o1 |

1. Offhand

2. Ointment

3. Observe

4. Occupy

5. Odyssey Options:
1) 43512

2) 34512

3) 53412

4) 35412

Correct Answer: 34512
Candidate Answer: 34512

QID : 621 - Arrange the given words in the sequence in which they occur in the dictionary.

. Parade
. Parson
. Partial
. Parry
. Parish

u b WN R

TS o Tl A S T A SN H 3T dTel H o AR o |

Parade

. Parson

Partial

. Parry

. Parish Options:

1) 51423

2) 15423

3) 51432

4) 15432

Correct Answer: 15423
Candidate Answer: 15423

v R WwN R

QID : 622 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.

LsQ, IPN, FMK, CIH, ?
T H A EATIATY, THA A TR IS AL | SUINAHF T H AT FG aH T g
AT, S 3] H BT R

LSQ, IPN, FMK, CJH, ? Options:
1) SBT
2) ASM
3) CHR
4) ZGE

Correct Answer: ZGE



Candidate Answer: [ NOT ANSWERED ]
QID : 623 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.

NADI, QCGK, TEJM, WGMO, ?
Teh 3] H SATIRATE, SFHA A Ueh UG o A ¢ | ST I e T H A g el aeh T A, S 37 H BT U |

NADI, QCGK, TEJM, WGMO, ?
) PALO

2) ZIPQ

3) YLQB

4) SZQR

Correct Answer: ZIPQ

Candidate Answer: ZIPQ

QID : 624 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.

MOL, FHE, YAX, RTQ, ?
TS 3] A GATIATE, STHA A UFH TG ] o § | STV I T HA H g Her am I
T, S 3] H BT |

MOL, FHE, YAX, RTQ, ? Options:
1) SNA 2)

KMmJ

3) BZF

4) KTF

Correct Answer: KMJ
Candidate Answer: KMJ

QID : 625 - In the following question, select the missing number from the given series.
146, 154, 163, 227, 252, ?

ATIGT  HGUIATTH IH Y d 3 oTd % ST

146, 154, 163, 227, 252, ? Options:

1) 522

2) 468

3) 394

4) 434

Correct Answer: 468

Candidate Answer: [ NOT ANSWERED ]

QID : 626 - In the following question, select the missing number from the given series.

2,5,28,17,?,37,344
AATGT  HEUIATIH I H Y T 37 o % ST

2,5,28,17,?, 37, 344 Options:

1) 123

2) 126

3) 26

4) 147

Correct Answer: 126

Candidate Answer: [ NOT ANSWERED ]

QID : 627 - In the following question, select the missing number from the given series.

56, 23,79, 102, 181, ?



AATGT  HEUIATTH I H Y d 3 o % ST

56, 23, 79, 102, 181, ? Options:

1) 292

2) 301

3) 283

4) 322

Correct Answer: 283

Candidate Answer: [ NOT ANSWERED ]

QID : 628 - In an exam hall five students are sitting in a row. Z is between V and X, Y is immediately behind X and V is the first. Who is sitting second last?

FHN I T AITT BT UH FAR AISE1 2, VIRXF TR, VX FSHF NS 3RV qa@ A7 g 3@ T A A WHIT 2
)Y

2) W

3) X

4z

Correct Answer: Y

Candidate Answer: Y

QID : 629 - B said to A that your father is the son in-law of my father. If lady B is not married to A's father, how are A and B related?

B AW FET & R U A Ul & STHIG § | TS H &l B ol A Ul & IaTg 716 T ¢, ol A 3R B TH T A A Hef U 82

Options:

1) Bis mother of A

BAFHATE

2) Ais sister of B

A BHaEAG

3) Ais sister of B's father

A BHIATHTEA &

4) B is sister of A's mother

BAFHIH el

Correct Answer: B is sister of A's mother
BAFHATH eI g

Candidate Answer: [ NOT ANSWERED ]

QID : 630 - From the given alternative words select the word which cannot be formed using the letters of the given word.

EMBODIMENT
AATTA g T H A TG A& AT ST GU INT A€ o 37T T JT leh o7
AT ST TeheT:

EMBODIMENT

Options:
1) nomad

2) demon
3) biome

4) toned



Correct Answer: nomad

Candidate Answer: nomad

QID : 631 - If CONSIGN is coded as XLMHRTM, then how will DRY be coded as?

& CONSIGN T S F XLMHRTM oIET ST & AY DRY T 1S H & T oI SITTan?
Options:

1) FTA

2) WiB

3) cax

4) £SZ

Correct Answer: WIB

Candidate Answer: WIB

QID : 632 - In a certain code language, 6523 means 'baby bit the toy', 7861 means 'do your bit now' and 6294 means 'give the small bit'. Find the code for 'the'.

FATA T HIS HINT H 6523 I 372§ 'baby bit the toy', 7861 HT 3T & 'do your bit now' 3T 6294 FT U § 'give the small bit'| 'the' & T IS T HT|
Options:1)

2)
3)

4)2
Correct Answer: 2

Candidate Answer: [ NOT ANSWERED ]



QID : 633 - In a certain code language, '+ represents '-', '-' represents 'x', 'x' represents '+' and '+' represents '+'. Find out the answer to the following question.

225x25-5+100+20="?
FHaraT TRSHETH '+, - PG ATHATE, -, 'x' Pl G AT AT, 'x, '+ P g AT AT 3 '+, '+ FrE ad
FATEIATTTT B3 T T A2

225 x25-5+100 + 20 = ? Options:
1) 56

2) 125

3) 12

4) 90

Correct Answer: 125

Candidate Answer: 125

QID:634-1f5@ 5=100,30 @ 3=330and 9 @ 2 = 110, then find the value of 8 @ 32 = ?

JE5@5=100,30 @3=33031R9@2=110,dr8 @ 32 = ? AT AT ©:[d F? Options:

1) 24

2) 400

3) 40

4) 16

Correct Answer: 400

Candidate Answer: [ NOT ANSWERED ]

QID : 635 - If A * B means A is mother of B, A + B means A is sister of B and If A % B means A is daughter of B, then what does C * D + E % F mean?
TEA*BHRIITTHABFHAE,A+BHIITTHA BHIGA 0 ANTCA%BHITTHA, BHTTTAC*D+E%FHTATHAE?

Options:

1) Cis E's mother
CEFHAE

2) Cis E's sister

C ERTEAY

3) Cis daughter of E
CEFTNE

4) Cis E's mother's mother
CEFHTHATE

Correct Answer: C is E's mother
CEFHE

Candidate Answer: [ NOT ANSWERED ]

QD : 636 -

Select the missing number from the given responses

fg T faepedl & & oH HE=aT gAv|




Options:
1)1

2)7
3)5
4) -5
Correct Answer: 1

Candidate Answer: 1

QID : 637 - Which of the following terms follows the trend of the given list?

000X0O0X, DOXOOXO, OXO0X00, XOOXO0O, OOXO00X,
A TG H Y HleT AT UG & I I o6 7 h AR 82

000X00X, O0XO0X0, OXOOX00, XOOX000, 00XO0O0X,

Options:
1) XOOOX00

2) OXO00X0

3) OOXO0X0

4) OOXOX00

Correct Answer: OXOOOXO

Candidate Answer: [ NOT ANSWERED ]

QID : 638 - A hawker starts from his home. He pushes his cart 2 km North, then he turns West and walks 3 km, then he turns South and walks 7 km, then he turns to his left and
walks 3 km. Where is he with respect to his home?

TF T 3 T 397 BR A TAAT R FAT S | T8 31T IS T 2 FeATHIeT STF IR A A IR agas &
& 3N 3 FAHIT T | T TG & T 3R HSH 7 FHeAFIC TolclT § 3R BT T 311 o7 IR HIH 3 FolHIe] TeAc § | e T8 30 e q FH T T WE?

Options:

1) 5 km North

5 el AT 3T

2) 5 km South

SFHAACIE T

3) 9 km South

9Tl AT g T

4) 9 km North

9 HAHAII 3T

Correct Answer: 5 km South
SHAACIE T
Candidate Answer: 5 km South

5FeliHleT g or

QID : 639 - Rahul and Shyam start cycling from their club. Rahul rides 11 km South, then turns to his left and rides 15 km. In the meanwhile Shyam rides 7 km East, then turns South
and rides 17 km, then turns to his left and rides 8 km. Where is Shyam with respect to Rahul?

T 3R I 319 oI & TTS & 9T el SR FA G|
TT 11 e E O I Tl @ IR B 37911 5T 3R R 15 FHeAHIC Toldll § | SH THIY F1H 7 el d & IR Teaarg AR e g U 3R HSH 17
FeltHTET Tl & 3R T 3791 ST 3R HSH 8 FolAAet ToidT & | T o o 6 7 ATH Fe1 02



Options:

1) 6 km North

6 FAHTT 3T

2) 17 km South

17 FellHieI g o7

3) 17 km North 17 FAHIEI 3T
4) 6 km South

6 FAHCIE OT

Correct Answer: 6 km South

6 FAlAICIE T

Candidate Answer: 6 km South

6 FellHET G U7

QID : 640 - In the question two statements are given, followed by two conclusions, | and II. You have to consider the statements to be true even if it seems to be at variance from
commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statements.

Statement I: Some gas is air
Statement Il: Some nitrogen is gas

Conclusion I: Some nitrogen is air
Conclusion II: All gas is nitrogen

H Y FUT I I § STTh 3T aT T Y | 31T 1l T IR § | TR ATAAT & S SleAl AT T T § I I8 AT IT: (Id T T T T T8I § | 3T AU AT § & & ITT
APTHY PT-TAYPT-AT T T Y FUT ORT TET AT ST Ghall &/Thd 8, TS HIS BT
FYT

rFodagard
FYA N: T B AT ol ITE

AFT: H A IS gaTe

A ST I Foft A7 18 e

%'Options:

1) Only conclusion | follows

FAAT Y| TET§

2) Only conclusion Il follows

HIAARY | TR

3) Both conclusions | and Il follow

AT TRFY IR TETE

4) Neither conclusion I nor conclusion Il follows
AT AT HY | FETE ATET T Y Il

Correct Answer: Neither conclusion | nor conclusion Il follows #T @F
ARY I T g AT T ART I

Candidate Answer: Only conclusion | follows &
TATFT | TETE

QID : 641 - In the question three statements are given, followed by three conclusions, I, Il and IlI. You have to consider the statements to be true even if it seems to be at variance
from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statements.

Statement I: No marble is granite
Statement II: All stones are marble
Statement lll: Some rocks are stones

Conclusion I: Some rocks are granite
Conclusion Il: Some marble are rocks
Conclusion Ill: No stones are granite

A N U X I & FTHF I AT T FT, 11 33 111 7T T § | 3R ATAAT§ & A FAT T T § TR T8 AT IT: T T T T H NT 8T § | 3TIhY 50T a1 § o T 1T



AFT AT FAA/FTTT T T Y FUT SR TE AT o Gl &/TFA €, T & PIS &

FYT I: PIS GIHTHT SATSE 718 & FYT I1: 3N T 2R AR E FYTN:F T
SATWRE

THFT 1 F T ol B §
FY: S HIFRF T Tl §F
F: FS T W A AT &

Options:

1) Only conclusions | and Il follow

FITTHY AN TEE

2) Only conclusions Il and Il follow
FaTTRT I TEE

3) Only conclusions | and IlI follow
FadTHY IR NTEE

4) All conclusions |, Il and 11l follow

dTTFT 13RI TEE

Correct Answer: Only conclusions Il and Il follow Had

TFT IR N TEE

Candidate Answer: [ NOT ANSWERED ]
QID : 642 -

Which of the following cube in the answer
figure cannot be made based on the unfolded
cube in the question figure?

ferforRac STR angpfar § & i a1 o Ry 1Y
T8 3TTpfcT H ot B 3 ST &1 T Fepell?

0
RARILILe
ke

Options:
1)

2)

o



3

Correct Answer:

e

Candidate Answer:

e

QD : 643 -

Which of the following answer figure patterns
can be combined to make the question figure?

frrforRad ST aTmpfer 4 & S & Hfcredl ot
STTgeR U T 7% 37TepfT el GTTAT ST Hehell &7

Options:
1)



2)
3)

4)

Correct Answer:

Candidate Answer:

QID : 644 -

In the following figure, square represents
Philosophers, triangle represents Police officer, circle
represents Pharmacists and rectangle represents
Americans. 'Which set of letters represents
Pharmacists who are not police officers?

fFriferRaa forr ¥ ot <1yt @ wefifa aar 2, e
qfer TRt @ W R deaT &, g, BRI @l

TR @ & SR 3 IMRa ol sl @var &
JeRY T B AT e 37 SRS Bt weffa wvar & @
QT R el 87

Options:
1) BF

2) AG

3) FED

4) CDE

Correct Answer: CDE

Candidate Answer: CDE

QID : 645 -



Which of the following Venn diagrams represents the
relationship between Men, Pilots and Lawyers ?

ferforRaa F & @l |1 97 forsy g, Urreres 3iR gahiatt
& dra day i 82



©

2)

3)

| @

4)

e

Correct Answer:

3

Candidate Answer:

3

QID : 646 -

Which answer figure will complete the pattern in the
question figure?

frr=ferRac = & -t STR s w4 amafer & wfced
Y ORI P2




2)

3)

4)

Correct Answer:

Candidate Answer: [ NOT ANSWERED ]

QID : 647 -



From the given answer figures, select the one in
which the question figure is hidden/embedded.

&Rt SR TSRl & I iy B g R wH i fifea &

/\
AA
\V/

2)

3)

4)

LN
LN
ATLA
[\

Correct Answer:




Candidate Answer:




QID : 648 -

A piece of paper is folded and punched as
shown below in the question figures. From the
given answer figures, indicate how it will appear
when opened.

T SMpicrl A T SR BRI DT HIGBR ITH
BT PR TAT Tl & I1S I8 b ITR 3MeHfer ST
ferag <2

1
v
==

Options:
1)

4

A\
p O <
O

b O {

Vol

O

>

2)

3)

4)

P

An/\

Correct Answer:



>vuv<
] C
4

An/\

Candidate Answer: [ NOT ANSWERED ]

QID : 649 -

If a mirror is placed on the line MN, then which
of the answer figures is the right image of the
given figure?

If Tep T T MN RGT IR T 1T o SF Rft IR

STTHIRAT H & PI-IT STTBIT T3 STPIT T FLl
yffesy g2

M N

&

Options:

1)

2)

3)

4)

=1

=
N

=4

T

o=
I




Correct Answer:

I}

=)

T

Candidate Answer:

4
<

QID : 650 -

A word is represented by only one set of numbers as given in any one of the
alternatives. The sets of numbers given in the alternatives are represented
by two classes of alphabets as shown in the given two matrices, The
columns and rows of Matrix-| are numbered from 0 to 4 and that of Matrix-I|
are numbered from 5 to 9, A letter from these matrices can be represented
first by its row and next by its column, for example ‘C' can be represented by
43, 14 etc and 'Q' can be represented by 89, 65 etc. Similarly, you have to
identify the set for the word "YANK'.

U 91eg, et Yo HRT-SHE GRS T &, ST fas frapet 3 3 fobedt v &
e &1 el & R oS- e & <) el grer agfe e &, S s
fer g 2 el 81 3iTee-| & T iR vfeh Y dw 0 3 4 3R e 1 5
W 9 21 57 MR W U IR DI Y IADY Ufth iR a1 7 Ty T gy swfar
ST HebelT &1 IGEIRUT P (1Y 'C’ T 43, 14 I FIRT ST 1 Fhell & T 'Q” DY
89, 65 3T FTRT AT T WehelT 81 ST E & STDT 3% 3 o a1ea 'YANK' &
fore SE 1 gaT 81

Matrix | ITTEA Matrix || ITE
0 1 2 3 4 5 6 7 8 9
0 F E G £ [ 5 X P 0 T T
1 C A ] ) C 6 Q N 0 ¥ v
2 H H H | K 7 R N 2 % S
3 M J H C B [ s Q R 1] Q
a | A K [ B 9 u qQ 2z N )
Options:
1) 89,43,21, 01

2) 67,44,89,23

3) 42,98,33,02

4) 68,11,76,42,

Correct Answer: 68,11,76,42,

Candidate Answer: 68,11,76,42,



QID : 651 - "Hyper-inflation" in the economy will lead to

3T ATH "3 -7 T & " HT T I0TH grem [

Options:

1) Easy loans 31TdTeT
FOT

2) Fall in value of
money 31’ ST oh HJ H IRTAC
3) Increased
production of goods 3@'3*73'
IO

4) Increased deposites

in banks S H STHTH T

Correct Answer: Fall in value of money q
ol sh & AJ H IRTAT
Candidate Answer: [ NOT ANSWERED ]

QID : 652 - Demand for which of the following commodities will be almost perfectly inelastic?

o of Tl 7 W SioT-E1 T J F FIIT HIHT YUI: JeleaR grefr?



) Gold

qur

2) Cars
SR

3) Dinin
g out dTg¥ aNsteT
el

4) Basic
foodgrains
WSJ‘H@T-:::-I'
Correct Answer: Basic foodgrains 3ITERE# T
or T

Candidate Answer: [ NOT ANSWERED ]

QID : 653 - Which of the following statements is correct?

T T T T H PleT AT HUF TET 8?2

Options:

1) Devaluation leads to cheaper imports in the domestic market.
3 I O B[ ST H AT F ATET S8 |

2) Devaluation leads to expensive exports to the foreign market.
HAH I A G SR H AT Hg el g1 el 8|

3) Devaluation leads to expensive imports in the domestic
market. 3T TeT & EXC[ STSTR H AT HEIN &I STl & |

4) Devaluation reduces the export to the foreign markets. 3/d#]

T F 3520 IR A AIT gT SaT & |

Correct Answer: Devaluation leads to expensive imports in the domestic market. 319 IsT
Q ER FTSTR H AT AGIN B ST B |

Candidate Answer: [ NOT ANSWERED ]

QID : 654 - Which of the following states has the maximum area of Mangrove forest?

AT TTT A Y HE T T HH <19 TT T T 37 T 2 §?

Options:

1) West
Bengal9 #H
SaTer

2) Guja
rat I1o] T

3) Tamil
Nadu o Hefellg
4) Mad
hya Pradesh #J
gar

Correct Answer: West Bengal I
A SaTeT
Candidate Answer: Madhya Pradesh 33

aar

QID : 655 - Which five years plan is also known as liberalization of economy?

Y GIGY I ANSTAT P T T AT 3 SERIHIT o T F Y SIAT ST &2
Options:
1) 7th
7.
2)8
gg
3)9
9F
th
4) 10



10-9

Correct Answer: 8t
8-d

Candidate Answer: [ NOT ANSWERED ]

QID : 656 - In which among the following Harappan site terracotta of 'plough’ was found?

AT TTT H Y FH &3 UThloiled Aol T ‘Gol’ T SIhIeT T d 3T?
Options: 1)

Dholavira

2) Ba

nawali SATdeIl

3) Ha
rappa g3 dr

4) Lot
hal @Y2rer

Correct
Answer:
Banawali

SATGelr
Candidate Answer: Harappa 85
qr

QID : 657 - Kalinga's King Kharvela was associated with which of the following dynasty?

& 9T XL WRA S T HEET o of of W h JsTaer J AT?

Options:
1) Mahameghavahana

dynasty FTHEATE aeT

2) Haryanka dynasty

&I 9T

3) Rath-Bhojak dynasty

&It aur

4) Satvahana dynasty

HTcraTge aer

Correct Answer: Mahameghavahana dynasty HE'I'Q’HE’IEH
g

Candidate Answer: [ NOT ANSWERED ]

QID : 658 - In which among the following King's reign Persian traveller Abdur Razzaq came to India?

GRAT T <X 3R STk HRA H FHE ATHS o ATTThTel 7 AR 3T AT?

Options: 1)

Dev Rai | &

|

2) Krishn
a Dev Rai | F UTed
|

3) Dev
Rai Il @ XTI

4) Krishn
a Rai ll 5 U |1

Correct Answer: Dev Rai Il &

T
Candidate Answer: [ NOT ANSWERED ]

QID : 659 - Who introduced in diarchy system in Bengal?



ST & -0 o o ¢ 37T hdied & A2

Options: 1)
Robert Clive
Uqe aga

2) Warren
Hastings aR-Tg € &
3) Lord
Wellesley CIEECE
4) John
Adams AT TS H

Correct Answer: Robert Clive Jiee

CIE:]

Candidate Answer: [ NOT ANSWERED ]

QID : 660 - "All India Kisan Sabha" was founded in

"3 Wl HRAT FHTA THT" T ITSeT T I AT
Options:

1) 1936 AD

19363.

2) 1939 AD
1939%.

3) 1942 AD
19428,

4) 1945 AD
19458,

Correct Answer: 1936 AD
1936%.

Candidate Answer: [ NOT ANSWERED ]

QID : 661 - The idea of Ombudsman is taken from which of the following countries?

T T W S 7Y FEY AlhUTel T TR o7 IAT 2
) USA

JuaT

2) C

hina el

3) s

weden

CIEGH

4) B

ritain '$' o3

Correct Answer: Sweden d18sT

Candidate Answer: USA JUHT

QID : 662 - The President of India can dissolve the Lok Sabha before completion of term
TR T T T T AT 3l ATl T el § TGl 39T el &

Options:

1) On the advice of the Chief Justice
T FIATENRT F HeAlg R

2) On the advice of the Vice
President 39U 9 'd & Hellg U

3) On the advice of the Speaker of
the Lok Sabha SIeREHT 37 T & HelTg T

4) On the advice of the Prime

Minister &ITT# <Y & Tollg W
Correct Answer: On the advice of the Prime Minister €ITTeT
T g W



Candidate Answer: On the advice of the Prime Minister €T
T Follg W

QID : 663 - The procedure for the removal of Vice-President is given in which article of Indian Constitution?

SR § U & 8 He] DG A ST T gTA F A S E?

Options:

1) Arti
cle 67 3'1?_[373\'
67

2) Arti
cle 56 3-1?_[33
56

3) Arti
cle 60 3-1?_[33
60

4) Arti
cle 77 3-1?_[33
77

Correct Answer: Article 67 3-17:[
¥ 67

Candidate Answer: [ NOT ANSWERED ]

QID : 664 - Vote of no-confidence motion is brought in which house?

37T T TG S TEeT 7 oI ST &2

Options:

1) Rajya
Sabha T T HAT
2) Lok
Sabha @i T

3) In any
house H&T T
Hcel H 4) None
of these Wﬁ
IS T8

Correct Answer: Lok Sabha olleh

{qAT

Candidate Answer: In any house H&T
E IR T

QID : 665 - Which of the following statements is not correct?

A T G HU H Pl WY AT &7



) Lok Sabha is called the First House.

W1 THT T UH Tl Fal AT &

2) Rajya Sabha is the Upper
House of Parliament. 3T T THT THS T 3
AL,

3) Lok Sabha is a temporary
house. 1ok THT U AT TeaT §

4) Rajya Sabha is a permanent

house. T T THT Teh AT TS §.

Correct Answer: Lok Sabha is a temporary house. Eica

HHT U YA TeT &

Candidate Answer: Lok Sabha is a temporary house. Elcy

AT Teh AN TeA &

QID : 666 - What is called the coastal part of water bodies of the ocean which is structurally part of the mainland of the continents?

Options:

1) continental
rise HGT 9T 3 AT

2) continental
plain FETE\’I'JT-\E'IH

3) continental
shelf HETIT A H

4) continental
slope HET 91T TelleT

Correct Answer: continental shelf #gl
T aw

Candidate Answer: continental shelf HgT
T ®

QID : 667 - The largest river of Asia is

TR & HIQ IS G gl

Options:

1) Y
angtze ar

St

2) Y
enisi J Y
3) |
ndus § ¢

4) M
ekong

AT
Correct Answer: Yangtze a7
Ell

Candidate Answer: Yangtze a7
St

FEIAIR o STefdTel T I 19T, S el oh ITAR AT T o F I 3[-$119T §, T heolld 672

QID : 668 - Asteroids have their orbits between which of the following planets?

GG H® oTof of of Tl ol § o AT AT &7

Options:

1) Mercury and
Venus gﬁllﬂ‘k >

2) Earth and
Mars “{[aﬁ'&fﬁ'm

3) Mars and
Jupiter HITST I T
4) Jupiter and
Satun gg I AR oA

Correct Answer: Mars and Jupiter T
Rgguda



Candidate Answer: Mars and Jupiter T
ARggua

QID : 669 - Which among the following is the oldest mountain range of India?

AT T T H Y HRA HT < NTdH TadHlTelT Hla-dr g?
) Aravali

kiNEC])

2) Himalyas gHTelT

3) Shivalik hills

_IaT & & TgT ;331

4) The Naga Hills =TT

T 3T

Correct Answer: Aravali 3RTdell

Candidate Answer: Aravali 3Tdell
QID : 670 - Which of the following is not a biosphere reserve in India?

TT T TT H Y Pl Teh HRA 7 3R TATAST B &2
Options: 1)

Gir

R

2) Nanda
Devi aT T ¢t

3) Pachma
rhi 9dHG

4) Agasthy

amalai 39T THTS

Correct Answer: Gir I

Candidate Answer: Nanda Devi o7

gredr

QID : 671 - India has sent a proposal to United Nations for declaring the year 2018 as ‘International Year of ",
AR o IY 2018 T '3TRT < Y o I H °l ol el & oIV Y T HITH JIT AT
Options:

1) Y

oga I

2) M

illets e oI

3) S

ea Food H3]

T 9cry 4)

Vulture

T

Correct Answer: Millets 3¢
o

Candidate Answer: Vulture 3T

QID : 672 - As per a recent announcement the Government of India will assist which of the following countries to develop and set up digital locker service?
HRT TR & ANATH BITUT & TR, HRA S STl el & a8 & AT IR TohTH 9t 7 71 o of Tl 7 T HH S F FeRIAT Ham?

Options:
1) Bhutan #cleT

2) Bangladesh aT
weer



3) Mauritius
AR
4) Srilanka
W
Correct Answer: Mauritius H2T
Candidate Answer: [ NOT ANSWERED ]

QID : 673 - The first phase of Ro-Ro (Roll on, Roll off) ferry service launched in Gujarat in October 2017 connects Ghogha and
SR 2017 H IS AT H Y FIT IAT V- (e 3T, T 3{Th) W § AaT A7 g er wRor ' 3R
) Dahej

g H 2)

Jamnagar

SHAIR A

3) Bhuj

ST 4)

Dwarka

SR

Correct Answer: Dahej ¢ gl

ﬁ

Candidate Answer: Dahej &gl

q
QID : 674 - Which team won its maiden Ranji Trophy by defeating seven time winner Delhi on 1 January 2018?

1 ST=TaRY 2018 T T TR TSNAT & oY Sl TR HE T 7 o 3911 Tgoll I0TH <10 e

Options:

1) Saura
shtra TRT

2) Vidar
bha dcdH

3) Goa
afar

4) Jhark
hand IR

Correct Answer: Vidarbha a3
Candidate Answer: [ NOT ANSWERED ]

QID : 675 - Who among the following players won the Joburg Open Golf title on December 11, 2017 in Johannesburg?
AATTT H Y HH TATST o SNGIHTT 7 11 &F 8], 2017 Y ST 39T I O T WA SHAT?

Options:

1) Erik Van Rooyen
$ & ael Aef

2) Shubhankar
Sharma ?_PT]W AT

3) Masahiro
Kawamura mg‘{’raﬂa@v
4) Md.Siddikur

Rahman #T. % IIEHTT

Correct Answer: Shubhankar Sharma Q_PTI’GR
AT

Candidate Answer: Shubhankar Sharma %l&i‘ia?{
AT

QID : 676 - "Enchantress of Florence" is written by

g 3 AE AR I SRT oY IS § |
Options:

1) William

Dalrymple T TIH 3T

qel

2) Salman

Rushdie HelHTeT &

H SAsarel



3) Rajmohan

Gandhi JrsTHIgsT el

4) Aarunima
Sinha 31T UTHAT dal

Correct Answer: Salman Rushdie HeTHTeT

a

Candidate Answer: [ NOT ANSWERED ]

QID : 677 - Who among the following has received the Padma Vibhushan Award in March 2017?

Options:

1) Kailash
Kher 3 SITer WX

2) Narendra
Kohlisiy  higel
3) Murli
Manohar Joshi ﬂ?ﬁl’
Fearg siefr

4) Sanjeev

Kapoor Halld YT

o o o Wl 7 { HheA A 2017 H T FHT0T G R < o 7T 8?2



Correct Answer: Murli Manohar Joshi 31'{7*?[
HogY siefr

Candidate Answer: Sanjeev Kapoor Tsild
aR
QID : 678 - In which of the following country India organised Cultural festival to mark Tagore's 156 birth anniversary?

AT T GTH Y HH U H AXA 7 SR F 156 T ST Heflol o oT A & cfoh 3 T T HTANSToT T AT?

Options:

1) Mal
dives HTelg d
2) Egy
ptH

3) Mo
rocco AR T
4) Isra
el goTSel

Correct Answer: Egypt #

Candidate Answer: [ NOT ANSWERED ]

QID : 679 - In July 2017, with which country India decided to construct bridge along Mizoram border?
SIS 2017 H, HE U & HTY AR o HARH & QIAT I ol Fello} T 0T 6T AT?

Options:

1) Chi
na @l

2) Ban
gladesh &
wger

3) My
anmar ITAR

4) Nep
al siqTeT
Correct Answer: Bangladesh Eil
ager

Candidate Answer: [ NOT ANSWERED ]

QID : 680 - The fourth edition of BIMSTEC summit 2017 was held in which country?

§ T SSH 2017 I AT T 0T HH G2 H 37T ST 31T AT?
Options:
1) India ART

2) Nepal
AqTer
3) Sri Lanka

W
4) China @feT

Correct Answer: Nepal Aqrer
Candidate Answer: [ NOT ANSWERED ]

QID : 681 - Which among the following is used to transmit data in optical fibre?

T T TT H Y HGRT AT 3T Thel BISS H STeT Holel & T HAT SATATE?
Options:

1) Vi

brations &

o=



2) Li
ght 1T

3) S
oundd sl

4) El
ectrical
current E|'<':|"

YRT
Correct Answer: Light ShIT

Candidate Answer: Electrical current agr

L3IEY QID : 682 - Which of the
following statement(s) is/are CORRECT
with respect to BIOS?

I. Itis a set of computer instructions in firmware.
Il. It controls input and output operations.
11, Full form of BIOS is basic input-output system.

T T T A Y Pl T/ FU BIOS & T F LY /87

1. IE o YT BHII & of T A H H AT ¢ |

1. IE FoTYC YT ITICYE HlTelel 7% o AT S | . BIOS T 318
S HBCICHEA B

Options:

1) Only |
and |1 & e | 72T
1l

2) Only |

and Il Jel |
a2l

3) Only Il
and Il H T I
a2l

a) Al
statements are

correct. T
FYF TEIE |

Correct Answer: All statements are correct. THT

FUA TG Gl
Candidate Answer: [ NOT ANSWERED ]

QID : 683 - What is the chemical formula of baking soda?

o ST HIST AT THI 77 AT ?
Options:

1) Na2CO 3.10H20

2) Na2C03

3) NaHCO3

4) NaOH
Correct Answer: NaHCO3

Candidate Answer: NaHCO3

QID : 684 - Which of the following metal is most reactive?

AT TG H Y pleT T T 37 &7 37 7 AT 82
Options:

JuSTTH



1) P
otassium 9i¢

MIH
2) c
alcium &

qIJH

3) S
odium &Y
sSIH

4) z
incSTdr

Correct Answer: Potassium Qi
MIH

Candidate Answer: Sodium &¥
sIH

QID : 685 - Which of the following can be defined as the smallest particle of an element that is capable of an independent existence?
T o Gl 7 HHR! HH T T & 3H G HAH H0T & T H T ATV T Hebel § 91 I T H 37 T 7 TG Hehell 57

Options: 1)
Electron

3o

o

[sir)

2) Proton

et

3) Neutron
OTeT

4) Molecule

3191

S
Correct Answer: Molecule 30T

Candidate Answer: Molecule 3-TU;I'

QID : 686 - In Modern Periodic Table, the atomic radius increases

3T 775 3T AR &, TRATO] AT Sed gl
) while moving from left to right in a period 3Tdd

H I Y& ST I

2) while moving from right to left in a
period 3Tad H &1 & 91T Te¥ IR

3) while moving from top to bottom in a
group IT/HFG A FH { oA Sl T

4) No option is correct. Eﬁlé’a'cl?qﬂﬁﬂ%'
gl

Correct Answer: while moving from right to left in a period 3Tad H &I &
ST 31T U [OR] while moving from top to bottom in a group CRIVASES (X

SRAAT AR R
Candidate Answer: [ NOT ANSWERED ]

QID : 687 - In science, a push or a pull on an object is called as

T Tl 7, FHE T J TN 90 aTor o & AT TTa FEAE

Options:

1) pre
ssure Glsl

2) gra

vitation I d
Pl



3) for
ce §el

4) fric
tion ©¥YUT

Correct Answer: force sl

Candidate Answer: gravitation :g

q9
QID : 688 - When two resistors are connected in parallel, they have

SEATRUFH AT F A FAT I HAT AT &, Al 3AH7 EaRE B
Options:

1) same current I 53 YRT

HHATT 2) same potential

difference IHATAR THTT

3) different potential difference FITATAR
3TeldT

4) Both same current and different

potential difference T ;T &RT HHTA TJATTHATAR
JrerET el

Correct Answer: same potential difference FHATR
HHTT

Candidate Answer: same potential difference FIATR
HHTT

QID : 689 - What precaution should be taken to avoid the overloading of domestic electric circuits?
R T el H ohe & 37 THRUT T Aehad o o T AT HGLTA Sclatl =T §T?
Options:
1) Fuse should be connected in the circuit. ?J(\HHRQQBT@HTW
gyl
2) Too many appliances should not be connected in single circuit. '
AR YT Y Tehel T e H A8 SN1ST SITAT ATV
3) Faulty appliances should not be connected in the circuit. GIId
3YFHIUT T I e H g SIST ST AT g0
4) All options are correct.
T g T T
Correct Answer: All options are correct. Y

THITEI

Candidate Answer: All options are correct. THT

TH I EI

QID : 690 - Diopter is unit of .

st HEHES g



) Power of lens of&
% HAT
2) Focal length
of lens o1 & B I
3) Intensity of
light 31T & T AT
4) Intensity of
sound TTH ardm

Correct Answer: Power of lens oTH
& HAT
Candidate Answer: Focal length of lens oIf &

HrRg I

QID : 691 - Which among the following vitamin helps in controlling infection in human body?

T T T TT H Y Pl AT I AT AT QR F T HOT Adhed H FGE, AT ?

Options:

1) Vita
min AdcT HeT A
2) Vita
min B dCT H« B
3) Vita
min CACT HA C
4) Vita
min K dcT Hel K

Correct Answer: Vitamin C dcT
Hel C

Candidate Answer: Vitamin K
dcT Hel K

QID : 692 - During inhalation, the ribs

T TAFFAT I A |
Options: 1) move

inwards 37T & 3T T

GEZGI %2) move

sideways  §dTel sh
IRTIRCA £3)

move upwards

FW & IR AT HAT

%’ 4) move downwards
A F IR T T E

Correct Answer: move upwards 39T
FIRTIRAE

Candidate Answer: move upwards 39

FIRTITRAE
QID : 693 - What is the average life of Red Blood Cells in human body?

AT IR F ST Y AT o AT 37T ket Beil 82

Options:

1) Equivalent to
human's life H'IHHEF}TIT__I,Q"T
e

2) Around 120
days oI9TTdT 120 &l

3) Around 200
days o19T#HdT 200 ST

4) Around 400
days oT9T7dT 400 Gl

Correct Answer: Around 120 days ofaT{dT
120 o



Candidate Answer: Around 120 days oT9Té7dT
120 ceT

QID : 694 - How many total number(s) of nucleus/nuclei is/are present in a zygote?

Teh g Hefol H UTC ST ATl heh/F & o & of H AT Skl gl 87

) Zero [
T
2) (o]
ne Ush

3) T

woaT

4) F
ourdil

Correct Answer: Two &r
Candidate Answer: Zero *]

I

QID : 695 - What will be the focal length when human eye lens becomes thin?

AT & 37 Hel oI o IcToll &t IR lehd T AT g1
Options:

1) Increases §G

g 2)

Decreases I

ST 3)
Remain same

FHAA @A &

4) No option is correct. EF’Ié

a6 T T TE L

Correct Answer: Increases S¢
ST

Candidate Answer: Increases §G

ST g

QID : 696 - Skin infections are caused by which of the following?

I. Protozoa
1. Bacteria
1. Virus

FA R AT T T TT H Y ik FRUTEIATE?

1. SYEISN3T

11.S1aToT 1. FTI]
Options: 1)

Only I

det |

2) o}
nly 11 & gef

1

3) o}
nly 11l & gl

1

4) A
Il causes
skin



infection.

asfraar

AT H

PRUTE|

Correct Answer: All causes skin infection. T{T
FAT AT &H FROTE|

Candidate Answer: Only | *

gel |
QID : 697 - In which of the following month festival of forests is celebrated in India?

AT TTT F Y HH AL F 7R H STel T TNgR FAATIT ST &2
Options: 1)

Mayﬂé’

2) J
une Sfs1
3) J

uly Gioﬂ é 4)
September
AT X

Correct Answer: July STl é
Candidate Answer: [ NOT ANSWERED ]

QID : 698 - Which of the following gas is most harmful for ozone layer?

TTTTT F A Pl &Y T INAT R & oTT TTH 37 &1 8T APRS 872
) Carbon dioxide
IS STSHT ATES
2) Chloroflurocarbon efRT
GIREIED
3) Nitrogen oxide
TS <YteT 31T A1SS
4) Sulphur dioxide § X
3t arss
Correct Answer: Chloroflurocarbon RT
GIREIED

Candidate Answer: Chloroflurocarbon &

ARIRE
QID : 699 - Which of the following are the largest fixator of solar energy?

AT T GA H Y Pled G ST o TIH I3 AT 57?
Options:
1) Bacteria dc
T
2) Fungishdeh

3) Green plants
g aler
4) Protozoa
i::-]aGﬁ AT
Correct Answer: Green plants B‘l’
qier
Candidate Answer: Green plants G‘T

qier

QID : 700 - The pyramid of energy is




ol R HS grargl

Options:
1) always
inverted @& 3 €T

2) never
upright FM A FRF
IR A% 3) always
upright LT IR
F 3R

4) No option is correct.

FIS T T e 16 &

Correct Answer: always upright ag

FRH AR
Candidate Answer: [ NOT ANSWERED ]

QID : 701 - Which of the following is calcareous raw material used in the cement production?

ATAY A F A & T ATl HIHC 3 UTeet # L 8lell 82

Options:

1) Cement
rock THAC T <TeT

2) Lime
stone AT A

3) Marine
shells 7 37TaRoT (&

)
a) All
option are correct

N IR THRE

Correct Answer: Marine shells &
3raor (& F)

Candidate Answer: Lime stone TgiT

TR

QID : 702 - If the size of specimen used to test the compressive strength of concrete is decreased, then the compressive strength of concrete will
ggh  THEUNST A T O{T OT ¥t & U S TATel ol 37T oFHeAT & 31T A ] 378 &, AT T & g ared gt
) decrease Tcdr
2) do not affected Eﬁé’
EICE I EGIE
3) first decrease then
increase rapidly QBT»TEE?!T%‘F{
REIEECSIN
4) increase  dedl

Correct Answer: increase Sgdl

Candidate Answer: increase Sgdl

QID : 703 - What is the bottom diameter (mm) of the standard mould used in slump test of the concrete?
F T & He 9L OT F 3YFNIT T STt dTel HTeTeh 1T T ATl <1 (FH) ATE?
Options:
1) 50
2) 100
3) 150

4) 200

Correct Answer: 200



Candidate Answer: 200

QID : 704 - The showing up of white fluffy layers on the surfaces of concrete is termed as
& TH AT WD & P ol T Tl ' & el el FET AR
Options:
1) consist
ency IXdr
2) efflores
cence 3P ofel

3) segrega
tion T &HI0T

4) workab
ility epTAT

Correct Answer: efflorescence 3

B ofeT

-l

Candidate Answer: efflorescence 3%

ofel
QID : 705 - Tempering is the process used in the manufacturing of .

] O ATH AT, & FTHOT H FIAT AT & |
Options: 1)
bricks ©

2) bitu
men azgﬂ?r

3) ce
ment HHC

4) pai
nts9c

Correct Answer: bricks ©

Candidate Answer: bitumen S¢HeT

QID : 706 - Which of the following is burnt in the Hoffman’s kiln during the process of manufacturing?

THTUT & AT & ST 2T & 7 O H o of 7 PIeT-TT STl ST &2

Options:

1) Bitu
men E@ﬁﬂ'

2) Bric
ks T

3) Clin
ker ETIT:[«F!FT

4) Var
nishes dT =12

Correct Answer: Bricks ©



Candidate Answer: Bricks ©

QID : 707 - In which of the following case Bethel process is used?

TTTTT H Y HH 37T ATH Scel AT T AT HAT SATAT &?

Options:

1) Brick manufacturing
T oHTOT

2) Cement
manufacturing e AT

3) Manufacturing of

bituminous material E@.’W

TTH <Y T T AHATIT

4) Treatment of timber

FTeha) I 3TAR

Correct Answer: Treatment of timber Fﬁh—sﬁ

I 3UAR

Candidate Answer: [ NOT ANSWERED ]

QID : 708 - For proper workability of concrete, the water-cement ratio varies from

é?t$3aama?av,aﬂ-$hﬂtm3ﬁtrra BERRCRGEGIE

Options:
1) 0.1to 0.2

0.190.2
2)0.2t00.4
02904
3)0.4t00.6
04906
4) 0.6t 0.8
0.690.8

Correct Answer: 0.4 to 0.6
04906

Candidate Answer: 0.4 to 0.6

04¥0.6

QID : 709 - The viscous liquid obtained from the destructive distillation of organic material is known as .

Options:

1) p
aint9c

2) s
lag ofTar

3) t
arciy

4) N
one of

these S1H
ARG 75

Correct Answer: tar T

Candidate Answer: tar TR

IS oTeh TSI & $oTeh 3T F &7 o TT TIT <ol oY FYH AT AR

QID : 710 - What is the approximate bitumen content (expressed in percentage) in the refined asphalt?

Options:
1)5

TR T STHR (¥ T €) 7 AT T Al T < (AT H )ATE?



2) 20

3) 36

4) 52

Correct Answer: 52
Candidate Answer: 5

QID : 711 - Which of the following is correct statement for the cubical content methods?

T T A Y DT T 8T T Y T GF F AT T FAT 8?2
Options:
1) Cost of building is estimated by multiplying the total area with areal rate

FTAIFAAF A T & N ] T e 379 & ST T AT STINAT AT ¢ |

2) Itis based on the total area of the building.

T 3797 & F o O ol W AT IAE

3) Itis less accurate as compared to plinth area estimate. Jgae S ?W?WWP’C%%

4) Itis best suitable for the estimate of multi storey building. a-ﬁmm%m%wwmm gl

Correct Answer: It is best suitable for the estimate of multi storey building. F
ST AR & JAA h T Tg G 39g  §
Candidate Answer: [ NOT ANSWERED ]

QID : 712 - How many bags of cement are required for 14 cubic meter of cement concrete work (1: 2 : 4)?
FHCEH  THI & 14 GoT FX (1: 2: 4) F AT WHAC & hcded Vel F 3T TehaT 82

Options:
1) 58

2) 70

3) 88

4) 116

Correct Answer: 88

Candidate Answer: [ NOT ANSWERED ]

QID : 713 - The approximate quantity (kg) of bending and binding the reinforcement of mild steel per mason per day is .
A SA TS H <TG & T ol oh G & H0T & Gehel IR TT AR 3 ITTAT oIl AT T (el H) gl

Options:
1) 200

2) 375

3) 450

4) 575

Correct Answer: 375

Candidate Answer: [ NOT ANSWERED ]

QID : 714 - The knowledge of which items is necessary for the analysis of rates?

Whd NI HATHA AT F SAARRI 319 Toh §?

Options:

1) Contractor’s profit
&h G T T

2) Tool and plant
expenditure 3YROT AR TI T
3) Task of a labour in

one day Teh Gol H Hol Y hl bl



4) All option are
correct AT TR TTET &

Correct Answer: All option are correct Tt

THITANE
Candidate Answer: All option are correct T3t
THITEE

QID : 715 - What is the unit of measurement of pointing?

S T el & AT & ST ATE?
Options:

1) Meter

Hrex

2) Cubic

meter €T HeX

3) Kilogr

ams el T

4) Squar

e meter T HeX

Correct Answer: Square meter ddT

Candidate Answer: Square meter ddT
FreX QID : 716 - What is the

nominal size (cm) of the standard
brick as per Indian Standards?

AR HTeTeh oh HTHR HTeTeh T o1 ATHHAT 31 JTHR (o) TT 2

Options:
1) 19x9x 9

2) 20x9x9

3) 20x10x 10

4) 229x11.4x7.6

Correct Answer: 20 x 10 x 10

Candidate Answer: 20 x 10 x 10

QID : 717 - The objective of creating the sinking fund is to accumulate the sufficient money to

72l

FYTASH 3T I IAT T T STHT FAT R |

Options:

1) meet cost of construction and replacement after its useful life. 3TH
3N SiIdeT & a1 TATUT 3R o AT & ofaTel hl I Y

2) pay taxes HTHI AT T
3) recover the cost of construction

STHTUT & ol1aTel & Sl leh

4) save money for future HI I & T el TATT
Correct Answer: meet cost of construction and replacement after its useful life.

FES 3TN Sfaet & e FATOT AR T AT F AT HY R
Candidate Answer: [ NOT ANSWERED ]

QID : 718 - Calculate the total weight (kg) of the steel bar required for a slab of 3 m x 2 m, if the slab is reinforced with 16 mm diameter bars @ 250 mm c/c in longitudinal and
transverse direction.

Teh 3 HIET X 2 HIET & Ueh A & U 319 Ieh § IT IR o & of oied ( <1 ) F I0TAT 9, T & oI T 16 HAT TH dTed IR BT @ 250 HAT /2 3178 7 3R 377 U EAMH
Y § oI AT ST 8|



Options:
1) 38

2) 75.85
3) 82.17
4) 113.78

Correct Answer: 75.85
Candidate Answer: [ NOT ANSWERED ]

QID : 719 - Which of the following person functions as an arbitrator in public work department?

AT T Y Pl AT HIGST 57eh HIA THRTHH G A o T H AT T 2?

Options:

1) Chief
engineers 3 37
adar

2) Junior
engineer & oI 3T

AT

3) Superint

ending engineer 37eRT

& 37 57T

4) Supervis

orggd &

Correct Answer: Superintending engineer 3efr
R DL

Candidate Answer: Junior engineer & o

AT

QID : 720 - Calculate the volume (cubic metre) of earth work in an embankment of length 15 m. The top width of the embankment is 5 m and depth is 3 m. The side slope is 1.5 :
1.

15 #YeX & oIaTS & Ueh dea ey 7 FaTs & AT o (6T FIeX) F 0T | Teatr & N =isrs 5 Fiet 3R 16308 3 Aex &1 FoIRT gelet 1.5: 18
Options:

1) 225

2) 326.25

3) 367

a) 427.5

Correct Answer: 427.5

Candidate Answer: [ NOT ANSWERED ]

QID : 721 - In geodetic surveying, sum of all the internal angles (degree) of a spherical triangle should be

37T UT | UT H, AMelTehI 10T & Tl 3T T 10T (5 <N FTART____ geAr =gy
Options:

1) equalto 180

180 & SRTR

2) equal to 360

360 & SRTR

3) greater than 180

180 ¥ 3 & h

4) less than 180
180 A &HHA
Correct Answer: greater than 180

180 T A UH

Candidate Answer: less than 180
180 H A



QID : 722 - Alline of 5 m on the original map is shrunk to 4.6 m. Calculate the shrunk scale if the original scale of the map was 1 cm = 80 m.

el Aol T I 5 HIT & Toh [T HF 3 H 4.6 M G €| T & AT T 1 Hel YATAT 1 QY = 80 HIeX AT AN HF 5 % of o I0TAT T |

Options:
1)1cm=73.6m
18#T = 73.6 Al

2)1cm=79.6 m
18T = 79.6 HieX

3)1cm=86.95m
1 9T = 86.95 HeX

4)1cm=924m
19T = 92.4 Arex

Correct Answer: 1 cm =86.95 m

1 9T = 86.95 HeX

Candidate Answer: [ NOT ANSWERED ]

QID : 723 - Which of the following instrument is used for setting out right angles?

o o A Y HleT T T GHPIUT & ATTAT et o oTT 13T HAT ST &2

Options:
1) Clinometers

OUTATATIT

2) Offset rod

JRae s

3) Prism square H dITX

4) Plumb bob && Sig

Correct Answer: Prism square #
CIL

Candidate Answer: Prism square &

CIEL

QID : 724 - Determine the normal pull (kg) for a tape of 20 m long standardized at a pull of 30 kg. The cross section area of the tape is 0.5 square centimetres, weight of the tape
per metre is 20 gm. Take modulus of the elasticity for tape material as 21,00,000 kg per square centimetre.

30 el o THTg T 20 HICT AT Y oh ofT HIHT T T (o ) 7T I Y | T M 37] U HIE & el 0.5 T e HeT &, T HIeT T &1 dofeT 20 ST &1 T FTH <Y & IT 2ar
& ATYTR & T H 21,00,000 Fell <TH T T TS HX FTH |

Options:
1) 28

2) 36.8

3) 64

4) 78

Correct Answer: 64

Candidate Answer: [ NOT ANSWERED ]

QID : 725 - Which of the following expression is used for calculation of R.L of a point?

ATATRT N ST YT Teh § & 3R, Tl & ITUTAT & oI T HAT ST &2



) Height of instrument minus back sight 39ehIUT s
FASAATOE e
2) Height of instrument plus fore sight
SYRUTHSAS T NS
3) Reduced level of previous point minus
fore sight 3T & USell & ST X TEIT IT
4) Reduced level of previous point minus
fall ST & TSl & T R TCTT IT
Correct Answer: Reduced level of previous point minus fall Gelle &
TSl & &1 o IS T

Candidate Answer: Height of instrument minus back sight 39h{0T &
FASAATOE brap]

QID : 726 - Calculate the reduced bearing of a line if its whole circle bearing is 130 degree.

Teh STg+T o TZUS T3 T o ITUTAT Y 3R HYUT Fehed 93797 1305 V€

Options:
1)

50°

2)
N130°E

3)
S80°E
4)
S 50° W

Correct Answer:

S50°E
Candidate Answer:

SS50°E

QD : 727 -
Fore bearing and back bearing of the lines of a traverse are as follows:

Line AB BC CD DE

Fore bearing 125 172 264 316
(degree)/

Back bearing 304 351 83 136
(degree)

Which of the following stations is free from the local attraction?

3 ARET 3R e AT @ T & sy @ e
ar AB BC cD DE
o AT 125 172 264 316
(B #)
qeara T 304 351 83 136
(s )

A & & Fl7 § o T e § Had &2

Options:
1) Aand D
A3RD

2)AandC



A3RC
3)CandD
c3RkD

4) Only D
FTAD
Correct Answer: Only D &

del D
Candidate Answer: [ NOT ANSWERED ]

QID : 728 - Which of the following features is shown by the parallel contour lines?

FAT AT FleT T TATATY THTATTR T T IW@T <RI SWTS ST &2
Options:
1) Flat plains

FHIA Herel

2) Hills  9gTaY
3) Steep slope W3 Gellel
4) Uniform slope

Teh HHATT Gelled

Correct Answer: Uniform slope Teh
HHATT GelleT

Candidate Answer: Uniform slope Teh

HHATT Gellel

QID : 729 - Calculate the distance between the instrument and the staff if the staff readings are 1.56 m, 2.05 m and 2.56 m. The multiplying constant is 100 and additive constant
is 10.

SYRYOT AR 2T o e o 8 o IT0TAT 3, 3R €Toh {1 597 1.56 FHIE, 2.05 F1eX 3R 2.56 #HIeX & | 19 37 2ok 100 & 3R F91M #Heh Wik 10 ¥

Options:

1) 61

2) 110

3) 112

4) 215.67

Correct Answer: 110

Candidate Answer: [ NOT ANSWERED ]

QID : 730 - Calculate the length (m) of the longer chord of 250 m radius curve having deflection angle of 90 degree.

250 H1eX & e ST & FaTS (TH) F IT0TAT X ST T STUTHOT90 3 T §|

Options:
1) 250

2) 353.6

3) 392.7

4) 500

Correct Answer: 353.6

Candidate Answer: 500

QIiD:731-



10 m thick confined aquifer gives the steady state discharge

of 0.03 m*/s through the well of 50 cm radius. Due to pumping,
the height of water in the well is dropped from 15 mto 10 m
and the radius of influence is obtained as 500 m. What is the
coefficient of permeability (mmvs)?

10 Hex AT do WfAd e I 50 FEHR & TRR
& ATH ¥ 0.03m’/s & TR awT & fAdeT &ar B
gfEder & HRT H3IT A GEr B IS 15 HeX F 10 Hiex
g% FRT &7 S § 9 &7 e 500 Hew & &9 #F greg

ST ST &1 IReEaar (Y / ue) & AN T 57

Options:
1) 0.66

2) 0.99

3) 1.25

4) 6.89

Correct Answer: 0.66

Candidate Answer: [ NOT ANSWERED ]

QID : 732 - Which of the following represents the range of plasticity index for silt?

T A A HleT AT ING F AV AT S FAhieh & SN T o T FATS?
)10to 15
10¥ 15

2)15to 25
158 25

3)25to0 35
25835

4)35to 45
35845

Correct Answer: 10 to 15
10915

Candidate Answer: [ NOT ANSWERED ]

QID : 733 - The grain size (mm) of medium grained sand lies between .

A IH R ¥ HIHOTIHR (FA) _ FdaAaa gl
Options:

1) 0.425 to 0.075
0.425 8 0.075

2) 2.0t00.425

2.090.425

3) 4.7510 2.0

475820

4) 20t0 4.75

2084.75

Correct Answer: 2.0 to 0.425
2.0¥0.425

Candidate Answer: 0.425 to 0.075



0.425 8 0.075

QID : 734 - During the flow over length of 30 m, the head loss of 5 m is occurred during the seepage. What is the value of hydraulic gradient?

30 HIeX & TIETS F T 3 SRTT, <19 GIRTeT 5 FH1eX 3 83 T 81T & | 875 Y ok FUTT T HTeT ATEIINT?
Options:

1) 0.005 2)

0.045

3) 0.167

4) 0.192

Correct Answer: 0.167
Candidate Answer: [ NOT ANSWERED ]

QID : 735 - Which of the following is measured with the help of barometer?

o A st AT A e F AT AT &2
Options: 1)

Velocity 3T

d

2) Discharge intensity
SAage ardr

3) Pressure GId

4) Surface tension
GoICE

Correct Answer: Pressure CTsl

Candidate Answer: Pressure GIsl

QID : 736 - If the gauge pressure and atmospheric pressure at a point are observed as 70 mm of mercury and 750 mm of mercury respectively. What is the value of the absolute
pressure (mm of mercury) at that point?

T TH T W A gaTd 3R AgHSART Sare IRy 70 HA AR IRT S 750 HAHA: &6 TH AT | 36 T I HYOT a1 (TRT 3 FHHY) 7 AT 782

Options:
1) 500

2) 680

3) 750

4) 820

Correct Answer: 820

Candidate Answer: [ NOT ANSWERED ]

QD : 737 -

The rise of mercury in barometer is indicated as 80 mm.
What is the atmospheric pressure (kN/m?)at that point?

e NAY F URT FT 37 80 HAT & w7 F gRw
AT Bl 39 GHA agHSA™ Gard (kN/m?) 39 fig W

Options:
1) 80

2) 500

3) 10696



4) 15434
Correct Answer: 10696

Candidate Answer: [ NOT ANSWERED ]

QID : 738 -

Water is transported on a level road in the cylindrical container
of diameter 0.5 m and height 0.8 m. The maximum acceleration
of vehicle is 5 m/s?>. What is the initial allowable height of water
(cm) in the tank, if there is no spill?

9T+l &I JolabR 9 & &0 0.5 #Hlex 3R 3915 0.8 #ex &

U AT G5 IR o AT SATdr &1 age & fedd cavor
5m/s’ Bl ¥ & g (@) @ IRE@E e TS #4418
IR IS el w61 82

Options:
1) 50.5

2) 67.3

3) 92.7

4) 100

Correct Answer: 67.3

Candidate Answer: [ NOT ANSWERED ]

QD :739 -
For a flow, the velocity field and variation in density is given as,

V =(10x +3y +22)i +(12x + 4y +52) ] +(8x + 7y + 2z)k and
p= poe“?’r respectively. What is the value of 2, if the mass
is conserved?

garg ¥ T, a1 B & 3 gacd § aRad= &1 78 &,
mr:\7=(10x+3y«r22)f~:-(12x—:4y+5‘z)]'-(8x+7y+x12)l§'

HR p=pe™ IR ZoadA WG & d 4 & AT T grEm?

Options:
1) -11

2) -10

3) 10

4) 11

Correct Answer: -11

Candidate Answer: [ NOT ANSWERED ]

QID : 740 - A circular pipe of diametre 0.5 m carries the discharge of 50 litres/s. The head loss due to friction in pipe is 0.15 m and friction factor for the pipe is given as 0.01. What
is the length (m) of pipe?

T 0.5 m <1 Tell g <1 I3 A 50 litres/s & X W J61d 81 76T & | ©IVOT & HROT UISY # 85 ol 0.15 m § 3R 90T 3107 c:1ciah 0.01 § | TS o o &1 (m H) ATE|
) 50.5
2) 85.71



3) 98.95
4) 110.01

Correct Answer: 85.71
Candidate Answer: [ NOT ANSWERED ]

QID : 741 - A siphon is used at point A to draw the water from large reservoir and discharge it to the point B at an atmospheric pressure. If the elevation difference of points A and
B is 10 m, what is the velocity (m/s) at point B?

Th I T AT LT e Teh T3 SR & Ul @eioh AR & B & Ueh AYHSI Go1d 7 wldge] AT | TS T A
X B % 37T T 3R 10 HeX §, AT dTge B R 397 (Fi/|) A ATEEM?

Options:
1) 10

2) 14

3) 24

4) 34

Correct Answer: 14

Candidate Answer: [ NOT ANSWERED ]

QID : 742 - If the two exactly same pumps are running at the same speed and lift the water at the head of 20 m and 30 m respectively. What is the diameter of impeller of second
pump if the diameter (mm) of impeller of first pump is 500 mm?

I € aleT ThTHATT 9T THTT 7 d § el 3¢ & 3R 7LM: 20 AT 3R 30 AR F ez W

ITAT 33T § | TRT U9 o 5 YoR FHI=1aTell &l <1 AT & T & Ugol U9 o 3 YoR F=1aTell <1 (FHY) 500 HHT &2 Options:
1) 430.2

2) 500.5

3) 612.5

4) 7143

Correct Answer: 612.5

Candidate Answer: [ NOT ANSWERED ]

QlD:743 -

The Bulk modulus of a fluid is given by 25 GPa. What is the
compressibility ( Pa™ ) of that fluid?

TReT Ge & Ui AMid 25 GPa ganT &ar =r §1 39
o T H GHfAaar (Pa) T @2

Options:
1)

4x107
2)
4x107"
3)
25x107°
4)
25x107"

Correct Answer:

4x10™"



Candidate Answer: [ NOT ANSWERED ]
QID : 744 - Which of the following parameter is measured with the help of elbow meter?

T T Y PleT AT T IATT T Y HeX & A F AT ST 872



) Acceleration a{uT

2) Veloci
ty I

3) Viscos
ity ATeTdT

4) Disch

arge EEUTQITH?T

Correct Answer: Discharge FHOTAMT
Candidate Answer: [ NOT ANSWERED ]

QID : 745 - Which one of the followings is not a cause of water-logging?

1 o 7 W lsT AT U STol-ll 19T hT Teh HRUT AT &2
Options:
1) Excess tapping of the ground water 3]aTel &T 31 ¥eh g

2) Excess rainfall 37 &Teh 98T
3) Frequent irrigation

AR (3 ) TS

4) High water table

3 9T T ofeht

Correct Answer: Excess tapping of the ground water H‘:EHG?T

3 UF AR

Candidate Answer: Excess tapping of the ground water 8]aTeT s

I YF Glg

QID : 746 - Calculate the velocity of flow through a channel if the mean diameter of the soil particles is 0.5 mm and discharge is 60 cumces.
Teh AeTel & AT IH A dTE & 39T & 0T & T & H & T 1 3T [F 0.5 AHY 31X TageT 60 & qF |
Options:
1) 0.75
2) 0.86
3) 0.93
4) 0.98

Correct Answer: 0.93
Candidate Answer: [ NOT ANSWERED ]

QID : 747 - What is the value of the slope require for coning of the wheel?

ToTeT & HIA T §IT & 31T TohelT I AT T & ATE?
Options:

1)1in5

581

2)1in 10

1071

3)1in 20

20H1

4)1in 25

25F1

Correct Answer: 1in 20
20H1

Candidate Answer: 1 in 20
20H1

QID : 748 - Calculate the ratio of radius of the relative stiffness for concrete pavements if the ratio of their thickness is 1.5.
BN G TUTY & S0 AT HINCAT & AT % 3T & VLA X T & SoTeh HICTS T He]dTel 1.5 8

Options:
1) 1.106



2) 1.355

3) 1.837

4) 3.375

Correct Answer: 1.355

Candidate Answer: [ NOT ANSWERED ]

QID : 749 - Which of the following represents the value of hourly variation factor?

AT TG F Y PHIAAT THET 8 AT FRb o AT A o F T T FATE?
)1.2

2) 15
3) 1.7
4) 2.5
Correct Answer: 1.5

Candidate Answer: 1.5

QID : 750 - What is the rainfall intensity (mm/hr) according to the formula given by British Ministry of Health, if the time of concentration is 540 seconds?
TAATT H el SRTEV T Bl W H & el &I ol o (HeAl-HIT/6e) ATE, T & el U7 &1 HHY 540 {3 872

Options:

1) 20

2) 30

3) 40

4) 50

Correct Answer: 40

Candidate Answer: [ NOT ANSWERED ]

QID : 751 - Efficiency of a riveted joint us defined as the ratio of

Teh TAT HY T S5 & HAT SH ATl & T F T T 9 glelr &
Options:

1) least strength of a riveted joint to the strength of solid plate

B oI & dTehd & olU Teh AT 1S & A o

2) greatest strength of a riveted joint to the strength of solid plate
B oT & dlehd & olU Ueh T dCS SIS & Aad 981 2T

3) least strength of a riveted plate to the greatest strength of the riveted joint
TTCE ST F TH T2 dTehed U U TACE oI & il dTohed

4) All option are correct

T TH T E

Correct Answer: All option are correct THT

THITLE
Candidate Answer: least strength of a riveted joint to the strength of solid plate T T
% dTehd o U Teh AT 1S & e T

QID : 752 - The critical load for a column of length | hinged at both ends and having flexural rigidity El, is given by

FIEH & HE JYUT oIS it F Glef OR T ol 2 T ST of a5 | § 3TN el ARl HoRT El, I $8® <RI GaT SATell &
Options:



2)
1) Pc = mEI/(L

2) Pc=m%El/(L?)

3) Pc=nEI/(L?)

4) None of theseﬁﬁ'@faﬁéﬂg

Correct Answer: Pc = El/(L2)

Candidate Answer: Pc = 2El/(L?)

QID : 753 - For determination of allowable stress in axial compression, Indian Standard Institution has adopted

N TS H AT TTd & TEROT F oIT, HRANT ATAh T AT o 3 3T &
Options:

1) Euler’s

formula e T

2) Rankine

formula Y eheT BT

3) Engesser

formula ‘s’é’{ﬂ{r\

4) Secant

formula W'{[

Correct Answer: Secant formula 9e

g

8
Candidate Answer: Secant formula 9&e
q QID : 754 - When a large

~
value of radius of gyration is not required

S I & AT Teh 3 7 T o 377d Yehell 78 gl &

Options:
1) channels are placed back to
back JeTeT ST Teh o d1G Ueh TQT AT &

2) channel flanges are kept
inward eTel oToiT T 37T 7 IW@T STl
% 3) channel flanges are kept
outward HeTel oI S ST T@T ST &

4) None of these
AP

Correct Answer: channel flanges are kept inward Aol
TSI T 37T # Y@ ST §
Candidate Answer: [ NOT ANSWERED ]

QID : 755 - Perforated cover plates are particularly suitable for built up sections consisting of

T o R AT TAY T Y AR HT 3T 97 T 307 & STTH AMMHTBIATE

Options:

1) channels placed back to
back deTeT ST Teh o F1G, Teh I@T
ST

2) channels placed toe to
toe eT H &l Teh & &1, Th R
3T 3) four angle box section

TR 0T ST H 1T

4) All option are correct &Y
THITEE



Correct Answer: four angle box section I
0TS G ST

Candidate Answer: channels placed toe to toe GOk
I T o 916 U RN R @M

QID : 756 - In a grillage footing, the maximum shear force occurs at the

Teh AT P €37 A, 3T Uheld Shellell dof Ag! TR arar g

Options:
1) edge of grillage
beam ool 1 & AR

2) center of base
plate 3TETR oIC T &

3) center of grillage
beam oI dIF HTH

4) None of these

G A IS 776

Correct Answer: center of base plate 3TIR
JCFHFFH
Candidate Answer: center of grillage beam oISt

ST FTH
QID : 757 - Lug angle is

T SHIOT

Options:

1) used with single angle member Tehel

TS T & T AT HAT AT & 2) not

used with double angle member Sdel

FIUT TG T & ATY JIET Ag HAT

3) used with channel member JTol & T T & Y 1T HAT ST g
4) All option are correct

g ar g g g

Correct Answer: All option are correct THT

THITEE
Candidate Answer: [ NOT ANSWERED ]

QID : 758 - With usual notations of the letters, the shear stress fs at any point of the cross-section is given by
3T TF TTAT T AT o AT, <FH-H AT & HaT T § T FRell delrd fs TR <RI &AT ST §
) fs=FQ/It

2) fs = Ft/IQ
3) fs= It/FQ

4) None of theseSaH T HIS 1§

Correct Answer: fs=FQ/It

Candidate Answer: [ NOT ANSWERED ]

QID : 759 - A simply supported beam carrying a central load, will be safe in deflection if the ratio of its span to depth is
Ueh & J HR ATell GH I A, T WIOTH T T G1 T & S8 31 & 31N 36 I1gS T IHe]dTel Te gram
Options:
1) less than 19
198 FA

2) less than 24
24T HA

3) greater than 19
198 HUH
4) greater than 24
pLE: g3



Correct Answer: less than 24
24 FH

Candidate Answer: greater than 19
199 HUH

QID : 760 - Rise of a Jack arch is kept about

Teh Sieh 31T T TSI oFTHIT ST TR I@T ST &

Options:

1) 1/2 to 1/3 of the
span T H1/2 T 1/3

2) 1/3 to 1/4 of the
span 39 T 1/3 T1/4

3) 1/4 to 1/8 of the
span 319 & T 1/481/8

a) 1/8 to 1/12 of the
span 319 YT 1/8 T 1/12

Correct Answer: 1/8 to 1/12 of the span 313 &
FT1/8 T 1/12

Candidate Answer: 1/8 to 1/12 of the span 3Id &
FT1/8 T 1/12

QID : 761 - Separation of coarse aggregates from mortar during transportation is known

a6 & GRIT AICR & (PI38) T T T T 0T I FgT AT §
Options: 1)

bleeding &

EQ

2) creeping

qar

3) segregat

ion 3TeTdllad

4) shrinkag

e HehraeT

Correct Answer: segregation 3Teldlld

Candidate Answer: segregation 3Tcldlld

QID : 762 - Pick up the correct statement from the following:

o o7 & Tl HeT 30N
Options:
1) High percentage of (C 3 S) and low percentage of (C2 S) cause rapid hardening

(C3S) T3 T T 3T (C, S) FT T F TAT N T T &Y STy HTHROTE

2) High percentage of (C3 S) and low percentage of (C2 S) make the cement less resistive to chemical attack

(C3S) T 3T AU 3R (C; ) FT FHA AAT HIHAC P TH A gl ¥ HH RIS J11dl &
3) Low percentage of (C3 S) and high percentage of (C2 S) contribute to slow hardening
(CGS)FMFAMREIN(CS) FITARGTTITA A A TTF ANGH SATe

4) All option are correct

g ar T T E



Correct Answer: All option are correct Tt
THITEE

Candidate Answer: All option are correct I3t
CERR NS

QID : 763 - Water cement ratio is

STeT HIHE T 3T giaT &
Options:
1) volume of water to that of cement e AR ue F AT or

2) weight of water to that of cement TIHAT T 9T T Tolel

3) Both 'volume of water to that of cement ' and 'weight of water to
that of cement '. gl "1t & &T o7 AiFe F' 3R "W F RE
qTaiT AT gofeT' |

4) weight of concrete to that of water

I q&F T H Il

Correct Answer: Both 'volume of water to that of cement ' and 'weight of water to that of cement . oG
& AT o1 HidAe T 3R AT & G ITeiT 1 IoeT' |

Candidate Answer: weight of water to that of cement HHcH

qTeAl T gofel

QID : 764 - Higher workability of a concrete is required if the structure is

& THITFI UM (TF T ol ) 37T TF § T & G g g ar

Options:

1) made with cement

concrete HHET & THATY

AT

2) thick and reinforced

A diRTad

3) thin and heavily

reinforced Icell 3R Y § &1

4) thick and heavily

reinforced e IR T Rg AT

ofd

Correct Answer: thick and heavily reinforced Al
IR ReaTaad

Candidate Answer: thin and heavily reinforced qeelr

IR

QID : 765 - Workability of concrete mix with low water cement ratio is determined by

T GTaAT & HIHC 3T AU & T H U7 & h1dl FHll AL I o STl

Options:

1) tensile strength

test THTST T I 0T

2) slump test &[T

qdror

3) compaction

factor test TETT SR T

oT

4) flexural strength

test Thel TReT T 917 0T

Correct Answer: compaction factor test e
FReE W OT

Candidate Answer: slump test ELl
g or

QID : 766 - For preparing a test specimen it is necessary

Teh O U7 SF3T SHIR et 6 o1 99g 319 I &



Options:

1) to mix cement and fine aggregate by dry hand H:@ET‘J@WW
IRFHAUTHHA T & T

2) to mix coarse aggregates

A HH TI H T & o0

3) to mix water to the cement, fine aggregates and coarse aggregates

AT, 5% T T 3R AR TH T H1 Uell o6 7 0T oI

4) All option are correct T IR TG §
Correct Answer: All option are correct THT
CERRIES

Candidate Answer: to mix cement and fine aggregate by dry hand 'H(:@ET?I
A IR TN FOTHH REZGE A1y



QID : 767 - The maximum thickness of concrete floor of a cement warehouse is

A MeHT FFH T % B & 37 UhdH AlCS &

Options:
1) 10cm

2) 15cm
3) 20cm
4) 25cm
Correct Answer: 25 cm

Candidate Answer: 25 cm

QID : 768 - The compaction of concrete improves

& TH U A GUR AT

Options:
1) density
ol El

2) strength T
3) durability
TgaTefrerar
4) All option are correct T3
TFIHNE
Correct Answer: All option are correct THT
THEITNE
Candidate Answer: density el

q

QID : 769 - Horizontal construction joints in concrete walls are generally provided at

THSAR H 3 T AAT SNS  HTH AN W SH W STl T AT &

Options:
1) window sill level @s&h &
CIGES
2) soffit level i e R
3) floor level
T T ool
4) All option are correct
TN THITEE
Correct Answer: All option are correct THT
CERRINS
Candidate Answer: All option are correct T3
THITLE

QID : 770 - Workability of concrete for a given water content is good if the aggregates are

T I F AT H THHA N H SN TR GH I g

Options:

1) rounded
aggregate ITeT Tehel

2) irregular
aggregate 3T I A i;(_’r
3) angular
aggregate Frof ?f o

4) flaky

aggregate WG f o



Correct Answer: rounded aggregate el
Hehel

Candidate Answer: rounded aggregate el
Hehel

QID : 771 - If a grading curve is horizontal between the portions of 20 mm 1.S. Sieve and 4.75 mm |.S. sieve, the graded aggregates do not contain
T 3T 20 mm |.S. Tolell 3R 4.75 mm 1.5, Telat 3R 4.75 HAY 30S.0H. oA, & 97 & o T T H TG AMAA 6 &
) 20 mm particles

20 mm <huT

2) 10 mm particles
10 mm shUT

3) 4.75 mm particles
4.75 mm 0T

4) All option are correct T TH TTET &
Correct Answer: All option are correct THT

THITEE
Candidate Answer: [ NOT ANSWERED ]

QID : 772 - Saw dust can be rendered chemically inert by boiling it in water containing

oThar
FREH ARG U A SIS AT AR T T HAT ST FhelT g
Options:
1) ferrous

sulphate MG HTTH T

2) potassium
chloride 9T eIH
RINEES

3) ammonia
37AT AT

4) None of
these ST & IS =15

Correct Answer: ferrous sulphate e
FHABT
Candidate Answer: [ NOT ANSWERED ]

QID : 773 - Pick up the correct statement from the following

A A Y TE HUA gerd

Options:

1) Continuous grading is not necessary for obtaining a minimum of air voids H@Hﬂ%ﬁ'lé’m-:ﬁﬁm%
2) The omission of a certain size of aggregate is shown by a straight horizontal line on the grading curve

2 397 J U Teh TN ST TWT RTE of HATIR Ueh ol of 3T & 3el Y SEIAT AT E

3) The omission of a certain size of aggregate in concrete increases the workability but also increases the

liability & TAF AR TR T 3MFR & Felt FrafeaT e AT 8, T FA ST T T s g
S &

4) All option are correct GEIGER RIS

Correct Answer: All option are correct THT

THITE

Candidate Answer: [ NOT ANSWERED ]

QID : 774 - For construction of structures in sea water, the cement generally preferred to is

T el 7 T & THTT & oTT, 3T R IR 10 AT A I6E HAT AT I8 &

Options:
1) Portland —
pozzolana cement GIEeTS-

YieTollellalT HiHe



2) quick setting
cement I 3T ¥ I HiAT
3) low heat Portland

cement &3 I TS HFHT

4) None of these

GoTH A IS 718

Correct Answer: Portland —pozzolana cement W’s"ﬁﬁ?ﬁm
HdFe

Candidate Answer: quick setting cement @

Ta T dAT

QID : 775 - The strength of concrete made with angular aggregate and rounded aggregate is practically same at the water/cement ratio is
IO o = 3R N T TT & AL Tl & T Ao UTeAT / HAC o 8 Tl TR AITHT FHIA BIehl &

Options:
1) 0.4

2) 0.48

3) 55

4) 0.65

Correct Answer: 0.65

Candidate Answer: [ NOT ANSWERED ]
QID : 776 - Pick up the correct statement from the following: Drying shrinkage is affected by

T H Y TET U GV WA bl 38 T I eI &
Options:
1) The relative humidity of the atmosphere
when the concrete is placed ITITEROT & JTY 377 a7 (Fh'
) ST EH TH @I AT
2) The length of time Wa?si"sné
3) The water/cement ratio of the concrete &
T H U / TAC Tl
4) All option are correct FWWWF?I’E{
Correct Answer: All option are correct Y

THITLE
Candidate Answer: [ NOT ANSWERED ]

QID : 777 - The compound constituent of cement abbreviated by C3A represents:

HHAT HIH o TCeh THEH Geh ol T C3A § 98 T8 o of T T AT &
Options:

1) tricalcium alumino ferrite

TS T 31 AA B ST

2) tricalcium aluminate

TS A T FAAT

3) tricalcium silicate

a::-]é,%}; JIHT T AR T

4) dicalcium silicate

EH AT TR T

Correct Answer: tricalcium aluminate
STgh AIA T FACT

Candidate Answer: tricalcium aluminate

TS A T FAAT
QID : 778 - Deleterious substances in aggregate are undesirable because they may:

TH T A ET ABRD TeT AT § T & A I
Options:



1) affect the strength, workability, and long term
performance of concrete ?EEFFTITCT, ST AT 3R & T AR
EUT T ST IT AT &

2) have intrinsic weakness, softness and fineness 3
T HHSN, A 3R Fear g

3) interfere with the chemical reaction of hydration
T & T A T AT HE T T

4) All option are correct g IR I ®

Correct Answer: All option are correct Tt

THITEE
Candidate Answer: [ NOT ANSWERED ]

QID : 779 - If the modular ratio is m, steel ratio is r and overall depth of a beam is d, the depth of the critical neutral axis of the beam is
IIRAT ER I m B, T AT r & 3R e 5 5 o IS o B, SN o g YT I Y I F IETS gl

Options:
1) {m/(m-r)}*d

2) {m/(m+r)}*d
3) {(m+r)/m}* d

4) None of theseéﬂﬁ@ﬁé’ﬂ%’

Correct Answer: {m/(m +r)}* d

Candidate Answer: {m/(m + r)}* d

QID : 780 - According to the steel beam theory of doubly reinforced beams

AP TT AT A BT AT NA Y 0T o AR
) tension is resisted by tension steel
AT TeTTa T <R GRVET HAT
2) compression is resisted by compression steel
FReT g € o oRTIUT HATE
3) stress in tension steel equals the stress in compression steel
T T o F AT HHST AT & SRTE BIer &

4) All option are correct T3T IH T TG &
Correct Answer: All option are correct THT

THEIENE
Candidate Answer: stress in tension steel equals the stress in compression steel deITd € o H

FTa TS a7 F TS ET

QID : 781 - If Sb is the average bond stress on a bar of diameter d subjected to maximum stress t, the length of the embedment | is given by

I G Sy 3 TAH AT t, 3 7 <1 d F U IR IR 3 918 A9 gIaT g, Y U OFA< | F olaTs 30 ORI S ST §
Options:
1) I=dt/Sp

2) | =dt/(2Sb)
3) | =dt/(3Sb)

4) | = dt/(4Sb)
Correct Answer: | = dt/(4Sb)

Candidate Answer: [ NOT ANSWERED ]

QID : 782 - The stresses developed in concrete and steel in reinforced concrete beam 25 cm width and 70 cm effective depth are 62.5 kg/cm?Zand 250

kg/cm?respectively. If m= 15, the depth of its neutral axis is

TAd FH T NH H 25 cm SS 3R 70 cm HI ITETS T & € 3R @ of F T Td dATd FL: 62.5 kg/cm?and 250 kg/cm? §1 T & m = 15, ST dc 2 37 IS & Options:



1) 20cm

2) 25cm

3) 30cm

4) 35cm

Correct Answer: 30 cm

Candidate Answer: [ NOT ANSWERED ]

QID : 783 - A T-beam behaves as a rectangular beam of a width equal to its flange if its neutral axis

T -1 5HF o1 T & SRR TISTS o TP 3AAHR §1F7 & T H GgR Il ¢, TR STAF dc T 7§
Options:

1) remains within the flange

NS & MR AT

2) remains below the slab

dTH AT T

3) coincides the geometrical center of the beam
A F T AT F AR TIATE

4) None of these

ELLRCIEE

Correct Answer: remains within the flange & 9T

& MR g

Candidate Answer: remains within the flange T 3T

F AR IEATE

QID : 784 - If the maximum bending moment of a simply supported slab is M Kg.cm the effective depth of the slab is: (It is given that Q is M.R. factor)
T U GH U A T 37 UhclH Fehal dTell UT & M Kg.cm & Al ol & I AT60S 8: (Tg a1 147§ & Q T M.R. FRF §)

Options:
1) M/(100 Q )

2) M/(10vQ)

3) M/VQ

4) None of these3aTH & IS =g

Correct Answer: None of these a1

BEIEE
Candidate Answer: [ NOT ANSWERED ]
QID : 785 - The percentage of minimum reinforcement should of the gross sectional area in slabs is

H Hehol TSN 2 ol H el H F & 0T T el Glell AT T
Options:

1) 0.001

2) 0.0012

3) 0.0015

4) 0.0018

Correct Answer: 0.0015

Candidate Answer: [ NOT ANSWERED ]

QID : 786 - In a combined footing if shear stress does not exceed 5 kg/cm?, the nominal stirrups provided are

g @ <IN H 3R Hellall A1 5 kg/cm? & 31 & 78 8T, Al GeT o il dTel ATHAT T §

Pl
Options:
1) 6 legged
6

2) 8 legged



Ly
3) 10 legged
10

4) 12 legged
bA-ry

Correct Answer: 8 legged

8w
Candidate Answer: [ NOT ANSWERED ]

QID : 787 - On piles, the drop must be at least

18 T W, <19 HF q HH ST 21T T T
Options:

1) 80 cm

2) 100 cm

3) 120 cm

4) 140 cm

Correct Answer: 120 cm

Candidate Answer: 120 cm

QID : 788 - Total pressure on the vertical face of a retaining wall of height h acts parallel to free surface and from the base at a distance of
h 3418 % Ueh 9T TWA ATeN & AR $ F AR AN R F A GAAH  FIg o FHAICR & IR IR @ 3eh TR glarg

Options:
1) h/4

2) h/3

3) h/2

4) 2h/3

Correct Answer: h/3

Candidate Answer: h/3

QID : 789 - The ratio of the length and depth of a simply supported rectangular beam which experiences maximum bending stress equal to tensile stress due to same load at its
mid span is

T §H Ul HIARR A o ofaTs 3R TGS T 34T AT 1A, S H T 37 & H 3N AR & HROT o TAT TeATd & SR 37 UheTH STt clofld h I3 el ©

Options:
1) 1/2

2) 2/3
3) 1/4
a) 1/3
Correct Answer: 2/3

Candidate Answer: [ NOT ANSWERED ]

QID : 790 - The maximum deflection of a simply supported beam of span L carrying an isolated load at the center of the span, flexural rigidity being El is

379 €' o H Teh YU oIS dTel UeT L §H U 1A T 37 TehcH T ST, of Aelel HORATEI E

) WL3/3EI



2) WL3/8El
3) WL3/24EI

4) WL3/48E|
Correct Answer: WL3/48E|

Candidate Answer: WL3/24E|
QID : 791 - A steel plate d x b is sandwiched rigidly between two timber joists each D x B/2 in section. The moment of resistance of the beam for the same maximum permissible
stress o in timber and steel will be:

Where Young’s modulus of steel is m times that of the timber

THTTAACTAxbTSAIF d x b / 2 AT FSI AT T & 1T T Al & TS T HAT AT ¢ | TThar IR
T H GHTA 31 GeheH AT a1 o 7 1A oh R & 0T g
STGT T 91 o € o T AUIh oohal bl m 3] T8, TG &
Options:

1) o(BD? + mbd?)/6D
2) o(BD3+ mbd?)/6D
3) o(BD3+ mbd3)/4D

4) 6(BD?+ mbd?)/4D
Correct Answer: G(BD3+ mbd3)/6D
Candidate Answer: [ NOT ANSWERED ]

QID : 792 - The radius of gyration of a section of area A and least moment of inertia | about the centroidal axis is

S AFHTH TS HIMRAT F AT TSAT I F FA A FATAF IR A H VST 3T &

Options:
1) A/I

2) /A

3) V(I/A)

4) v(A/1)

Correct Answer: V(I/A)

Candidate Answer: V(I/A)

QID :793 -



In the truss shown below, the force in member BD is

%ﬁ%ﬁ@rmﬂqgﬂﬁtwsoﬁﬁﬁﬁ%aﬁﬂmaa

g 100t

Options:
1) 100 t compressive

100 t 6 TT

2) 100 t tensile
100t T IAT

3) zero [T
4) indeterminate 37
ST T
Correct Answer: 100 t compressive

100 t & =T
Candidate Answer: zero [
ka g QID:794 -

The force in AD of the truss shown in figure below
is

%ﬂ%ﬁ“@rrqnngﬁtmwﬁﬁmﬁ%maa

5t

4t >

Options:
1) 4.0 t compression

4.0 t AT

2) 3.0 t compression

3.0 t fiseT

3) 0.5 t compression

0.5 t et

4) 0.5 t tension
0.5 t dedla

Correct Answer: 0.5 t compression

0.5 t et

Candidate Answer: [ NOT ANSWERED ]



QID : 795 - If D and d are external and internal diameters of a circular shaft respectively, its polar moment of inertia is
319 D 3R d H2T: Teh T 19 AT T M 16 3R 3T T <1 §, Al S5l 1 38 A 0T
Options:

1) n(D* d 4)/2
2) n(D* d%)/a
3) n(D* d%)/64

4) n(D* d%/32
Correct Answer: i(D* d%)/32

Candidate Answer: t(D*- d*)/32

QID : 796 - Pick up the correct statement from the following

o 1 Tl HUe 3610

Options:

1) A wire wound in spiral form is called helical spring §9el T H
dR G979 Y YTeR <37 gl SITdT g

2) The pitch of a close coil spring is very small %ﬂaf‘s’acﬁ-w$

EEE R EIAIGIE
3) The angle made by the coil with horizontal, is called the angle
of helix
3 ST % WY & 5ol oRT IATS IS H0TH § o T HI0T HgT STl &
4) All option are correct HSfI’aEFWH@'E‘T
Correct Answer: All option are correct THT
THITEE

Candidate Answer: [ NOT ANSWERED ]

QID : 797 - If Qis load factor, S is shape factor and F is factor of safety in elastic design, the following:

T QAT FRE E, S HTHR T FRH & AR F ATGR (ST o) SofTSeT H G 2T T N §, v of oT:
) Q=S +F

2) Q=S-F

3) Q=F-S

4) Q=SxF

Correct Answer: Q=S x F

Candidate Answer: [ NOT ANSWERED ]

QID : 798 - A two hinged parabolic arch of span | and rise h carries a load varying from zero at the left end to w per unit run at the right end. The horizontal thrust is
871 3R G h % &1 Eof T IS ok 31T AT ST 3 A LT A T BIAT e VT Z A w T & &1 g S A Tl AT g | ot & TT ARG
Options:

1) (wl?)/4h
2) (wl?)/8h
3) (wi?)/12h

a) (wi®)/16h

Correct Answer: (wl%)/16h

Candidate Answer: [ NOT ANSWERED ]



QID : 799 - The maximum Bending Moment due to an isolated load in a three-hinged parabolic arch (span |, rise h) having one of its hinges at the crown, occurs on either side of
the crown at a distance

AT &1 T RIS e 31T (957 |, 9T h) H YU HR 3 FHIUT 3 Eehcl# ST 1 U, 01351 H SHeh Teh §of 8le 3 HRUTH § Teh gt o HROT, <13+ & &l R S AW gIare, a8
g

Options:
1) I/4

2) h/4

3) I/(2v3)

4) 1/(3v2)

Correct Answer: |/(2V3)

Candidate Answer: [ NOT ANSWERED ]

QID : 800 - The equivalent length of a column of length L having both the ends hinged is

L o ST & T oA & FAH T of a5 oI Glef O I 5ol HATIRATE

Options:
1) 2L

2)L

3) /2

4) LV2

Correct Answer: L

Candidate Answer: L



